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=X RAEFER
- N %Di/u\g/ﬁ

EX 1 (1) (nTEWMK) ’RREB—AIZHNE (RYMURZ,QR,CHZ/mL), nAIE
BE X, X, X, BnMRET, BRLEX. HRaX X2 X" (aeR) H—1 215
X, Hfa ZBEXNBIMANRE, £ AEREE. o= 00, FRIZEMXECREA

deg f' =k +k, +..+k,, BEZMARETBEEX . MEFNBIMABREZE—NRE
sh, HREMERE, BN X ACREEARR, NFRX M2 AR R . [0 0] INE
M aX i XE X5 +bX X X =(a+h) X XL X AR T RS

(aXi X2 X")-(bX) X P .. X7) = abX ™ X242 | Xnvh | 45 BRAN B > F

fXL Xy X )= Y a,  XIXP XPHRAR E—Dn TETR, FHEHAE R

iy iy onriy 20
FHn TEMANEEILERX,,X,,.. X, ] F—PnxEWK, ENREFEFTHER

TNARARBIRAZZIMNARE . BATT UABIMINAI L. A A, BRMEN n
TEMRABIIE. FTx.

2) Ex2TR) X0,z BEANERET, FRERax'y'Z" (aeR) h—PERR. B

NERRZA f(x,3,2)= D, a,,, X V" RAR LH—P=TETR, HEHER LK

ij. k=0

=S MANESICERY, Y, 2],

EX 2 (1) & f(x,y,z)eRx,y,z], &fHR(xp,2)=f(x2y)=[(yx2)
=f(,2,x)=f(z,%,3) = f(z,y,x), WHRERR LH=THHRZI.

2) BHfBRS(xy,2)=f(z,x)=f(z,x,y), WFREER LH=THBREZIM.
(3) Ws=x+y+z,q=xy+yz+zx,p=xyz, EfIFFA=TEANHREZIMA. R LH

FE=THHREZIM f(x, y,z) —EREENR £s,q, p BTN g(5,9,p) . FRR=7Z
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B, g(s,q, p) MREEAEZ .

EX 3. (1) (n tHHREWMR) 1’ R Z—PTH]IK, BOH—NZIMR
f(X, Xy X)) €RIX |, Xy, X, ] BXHRES, BXF{L,2,....n} BERHS 0, #E

XXX, = L (X 00 Xy aypeees X)) o

(2) (nTEANKREZIMN) "A21, XTX,X,,. . X, NELDPEAIHREZINIE X

mT oe= Y XX, .X, . k>nEB1He =0, BEHETNEN e =1,

I<i <y <..<i; <n

FIE 1L (NHRSTRBEAZE) & (X, X,,o X,)€RIX,, X,ys X, ]2—R FHIn
TxHREMN, WEEE—NZIA ¢, Y,,...Y,) eR[Y,Y,,...Y, ], &F

(X, Xy, X)) =g(e,6,,...e,) HF ¢, e,,....6, ART X, X,,..., X, IEANTRE I
I, HEX3 (2) Gl TTAX n APEGEIE AL EE.

MR x,0,z208, ®E: (1) s°23q; (2) ¢°=3ps; (3) s=3p"°;
(4) g=3p™?; (5) sq=9p. FEARERF, (1) 3) (5) WHELMHLLE

x=y=z, (2) (4) HBREXHEAx=y=2z>08x,y,z B MAH0,

FI 2 (BRFER) (1) ®x,0,220, rAEE, MWD X (x-y)(x-2)20.
r<OmIEEFTELBD. Fall, r=1KHK1A
Zx3—szy—nyz+3xyz:Zx(x—y)(x—z)ZO, Bls’ —4sqg+9p >0,
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(2) —#gih, ()20 (x20)2x WBFREK, WD f()(x-y)(x—2)20,

EHE3 (1) By, pzeR, W(x-1)(y-2)"(z-x)
=-27p° +(18sq—4s)p+s'q> —4q >0,

(2) ®x,y,zeC, HEx+y+z,xy+yz+zx,xyzeRH
(x—y)(y-2z)(z-x)> =0, Wx,y,zeR,

(3) ®x,y,zeR, s=x+y+z,g=xy+yz+zx JEE, FEs =39 . Tk
x<y<z, Mp=xyzGAKE—EEx=y<zWBF, pHSNME—EEX<y=zH

1-32-2¢ 1-3£2 +2¢°
WﬂOQW%ﬁ,szwi'&ﬁaﬂ—MZO,ﬂ$—jﬁ——ﬁpé——37——,W%

ST AL
(4) %x,9,220, sS=x+y+z,q=xy+yz+zx HEME, HEs5>0,5°>3¢>0, K
higx<y<z, Wp=xz@&AE—EEXx=y<zWRT pHRM—EE

x<y=z, Fx=08EW2, B&ERKK, s=1/, ®r=1-3¢20, N

2 3 2 3
maX{O,l 3t -2t }<p£1 3t +2t

= AR
77 77 , RESERTT AR AL

#Hit 1 (1) ®f(xy,2) RERF=oxREm, deg /<5, N
f(x,y,2)=g(s,9,p) = p-g/(5,9)+gy(s,9), HEs,qBENERp H—REEK FHER

BE7E p BURERERE. () &x,»,zeR, MR x,y,z v BEENMEF. (i) &
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x,y,z20, MK x,y,z AEFEMEE, IE—TAZ.
(2) &f(x,y,2)=g(s,q,p) B g(s,q, p) F p BPREARBIL2, &
2(s,q.p)=p" &, (5.9)+ p- g/ (5,9)+ gy (5.9) » & g,(5,q) <OBRL L, MXIEEA

s,q, g(s,q,p) BRT p IFFAE TR REE, ReE#E p RRERNDRR/ME. TS
RegE (1) & () (i) AAEETR&R/IME.

. BlZEH

Bl (1) X+y+z7=5"-2q; 2) X +y +2 =5(s*-3¢)+3p;
(3) 2. X*(y+2)=s¢=3p; (4) (x+y)y+2)Nz+x)=5¢—p;
(5) x*+y*+zt =0 %" 20 ) =(s* -29)° = 2(¢” - 2sp)
=s'—4s’q+2q° +4sp ;

(6) (9—8AZER) &x,1,2>0, MIx+y)y+z)(z+x)

28(x+y+z)(xy+yz+zx),

B2 %ab,c>20,a+b+c=3, kKa*+b*+c’ +%abc BE/IME.
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B3 ®x,y,z20, x+y+z=1, KiE: T(xp+yz+zx) <249z,

5l 4. (2014, BEEA %) &XEa,b,cHRabc>0,a+b+c=1, KiF:

Jabe 1

ab+bc+ca< +—
2 4

a 220
1+bc 10

515 ®ab,c>0, a+b+c=1, Kif: Z

4“3

6. ®x,y,z20,xy+yz+zx=1, KiE: Zx(l—yz)(l—zz)ﬁ 5 °
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2
517 %&a,b,c>0, KiE: Zb+cz3+(za )(Zab)
a

abc(a+b+c) °

4b
+a

8. %a,b,c>0, *E:O+4aXH-
b+c c

R,

N1+ Y525, et B4 25
a+b

1 3 1 1
51 9. % a,b,c>0,abc=1, KifF: —— 220 =)=
9. & ki Za (za2)2a2

2.4
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5 10. EFESE a,b,ci#Rabc=1, (1) KiE: f(r)=a" +b" +c" (r>0) BEIFRNRE

1 1 1
-+ -+ 3 <1
l+a+b 1+b+c l1+c+a

EE, (2) KiF

o

111, % A4,B,C >0, A+B+C=x, KiL:

tan’ é+tan2 §+tan2 < > 2—8sinésin§sin— .
2 2 2 2 2 2

512 & a,b,c>0,a+b+c=3, KiF: a’b+b’c+c’a+abc<4 ., ARESRE?
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#13. Bfa,b,c20,a+b+c=1, Kif: 2<> (1-a°) <(1+a)1+b)(1+c).

114, B a,b,c>0, K 2> ab <Bfla+byb+o)c+a).

=. HERE

1. (Vasc RER) SHEZS#a,b,c, H(a*+b*+c*) 23(@’b+b’c+c’a), TSI Y
BiXEa=b=c, Ejia:b:c:sin247ﬂ:sin227”:sin2§£iﬁ$’éﬁo =L F, BRMNAE

(@ +b*+c*) =3(@’b+bc+ca)= %[(a2 —2ab+bc—c* +ca)’

+(b* =2bc+ca—a* +ab)’ +(c* —2ca+ab—b* +bc)*]1>0, LT li%
x=a’+b(c—a),y=b"+cla—b),z=c*+a(b—c), Mx+y+z=a>+b"+c?,
xy+yz+zx=Y [a'b’ +a’c(a—b)+b’(c—a)+bc(c—a)a—b)]=D a’b. m

(x+y+2)" >3(xy+ yz +zx) MERZER KT,
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